EARAROBREBRT —5 XN—ZXBISH—F 202459888 (B) 1MEHEE?2H

méﬁﬁ% YSR3® B
[xE&] 15:430,000H  23%&:138,000H  3#&:77,000H  43%&:52,000H  53&:34,000H
& % B FRERS /M M BF (T2) I4 L (BE) | BEIBA | B3F | SIEH | AR | AE | B FIR) / BE / £ERS
\ EHep#d :32. -2-2- . - BEH—X (EB)
sls|7usvLra i3 | B 1(3_2)3 2-2-2-1 | 39.6 4 (4331) Az (5
Rim—oEIL B:FLh—Y EHW s
=== > HKIBEA 132, === . - WEE (L&)
4| 575759F v 38 R E A R > 5 |Zues
R:T—ILRI—-X 8:NI/IVITI BREFTY RSV T - T7—LA
arkEst : -3-3- - TSR (kE
3 ) NNULD 4t 3 o 1(.13/22.)8 4-3-3-3 1 39.8 2 (4+227) : 1%@51 ( )
RiXAYIVYLYY BAAE—IAL il &
=ry~ === 3 FREE} 1:32.9 3-4-4-5 | 39.7 = 1 48 | BIEY (E8)
4 3| 939VT737 56.0 (3/4) +1) b‘?l“/ﬁ@ﬁ(ﬁ)
Ri_—IEIL B:FAIIUT I3 U VHERS
» =~ 4 3 LiO# 1:32.9 5-5-5-4 | 39.6 - 5 A6 | NBEX (E8)
517|7|9#8/TL=20 510 R e AEHEE (N
R:vad7II5Y B IUAZVITRAAL BREUFEI AN/ T7— L
— hiET 33 —9-6- ) - HEIF® (E8)
6189 TILITFT 4TIV 4t 3 7530 1 (35 6 9-9-6-6 39.7 6 (élgl) ﬂﬂﬁﬁg{
Rih—IEIL B:SX—)b RIFERE
< = . il Fikes : —7-8- - FHHEBAIE ({52
7 6 v ASHINY 4t 3 541% 1.(31?3.8 7-7-8-7 | 39.6 8 (ﬁ?) Ao ( )
R:O0394F B:7—RU4UR LITVRT7—L4L
$ = — = = : -6-7- - MBW (IK8)
81111 IB)F4= RS 4 3 540 1.?[3.5 6-6-7-8 | 40.7 7 (4_431) Iﬂgﬁgﬁ =
RiYyg—2/— &:5—5— BRERMMBIN/ T7—L
- e “u HEhEA :36. -8-9- . — BIEX (8)
o[g| 8| 3115 k2 o g gt [ e far] s [ Toums
RiF4RIU—brFvv b B:SR=)V/T—)L ENTEe]
@ 1—F—&BIENL
13—7F— 4,5,3,2,7,1,6,8,9
20—+ — 4,5,2,3,7,1,6,8,9
BEIESSES 4,5,2,3,7,9,1,6,8
43—F— 5,4,2,7,3,9,6,1,8
[ BN
BB 5 920 JA R 4-5 700/ & 4-5 1,480 3EE 2-4-5 2,620
B B 5 170M 2=l 5604 5B E 4-5 1,790 3EE 5-4-2 18,950/
4 140M4 2-4 400M o= 5-4 4,820
2 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




